o

S|

A V3(2V5+V3)=2V15+3

© (VA-V12)+V3=Vv2-1

© 4v2 - V2(3-6v2) =10v2 -6

® v2(2v3+4)-V3(V2-V6) = V6+72

@ 2 @ 3 ® 4 @ 5 ® 6
6 )

. - S ERE GeseiE?

4 NG nE G35t
®§ @? 3 6v2
@ 32 ® V2

. e FE Vb BE UERE uf 22 982 A8
® V80 =45 @ V32=4V2
® V20 =2v5 @ /500 = 5v/10

® /1000 = 10v/10

o2 A& Aot a + b2 g2 Fatolel (B a, b
= fEs

2 3

NN \/§<3+\/7>—a\f+b\f

216 ig—f) %(zhf 2) 7} fel47t HlE=
F24 a 9 72 Aotol=t

-1 @®@-2 ®-3 ®-4 -5
022 WESHE FEl4 a, b2 F ab Q] 29
\/§><\/§:\/5,3 TR 2:\/5

@ 1 @v2 ®V3 @2 ® 3

V[ = avE 9,0 o B T

V2o
1 1

@5 @—f2 31
3 3

@—5 @7




10. 7tz e} o7k 6v2 olaL, Mlze] o7k av2 A A | 15 3 L _ o mom koo zre 2etolat
AZFgTt gol7k e AAZg el G W] ho] » V3 ’ '
oV O B GEhiE? (@ b= AR A57) gl
%)

2 i 16.a =5 -3 %, I0a — 232 ©| 7 Fstole},
@ 2v3 @ 3v3 ® 43
@ 5v3 ® 6v3
17. V008 = Av2 4 1), A & F5tolet,
11. oh 3 T AR it 22 227 (A9 27)
o V12 -2 VI12+/2
V2 Y 18. Th-&- 3Hhe] shelet
5 V-3 @ V-3 R —
V3 V5 e
® V15 ++/5 12 4
V5 V2R
12. /25 Vo + & Asteist
3Va o wpe V15
19. 2V ) 2R sty Y57 b =g ol
of, A% o o Zhe?

13. 2 =72 4 ©, 2/3v2z & F3tofet. ®2 @3 @5 @10 612

14.4\?+m—§—7& 5l sfolzt.




20. b= T w2 A2

O V7I-V3-V2=V2
@ 0.02 x V2 =0.2

® V6 +Vi=V10
. 1 J—
@ 3\/§X\/17f%*6\@

® 2v2 + /18 — /50 = —2v/30

21.a:b+%omb:ﬁ%ﬂ1,a%b945-iﬂﬂ QlI71?

3

22.26+3vV3 x —— & 7
ffxﬁ

23. 5T x|/ 2 x /15 & 73] dlolak

24. 4

@® A>B>C
® B>A>C

®C>A>B

5v2-2,B=3V2+1,C =4/3-2 < o,

O T e BAV &2 A2?

@ A>C>B

@ B>C>A

V32 12
25. 2= _3=A4, =—-V12=BY4 4, A 2B ©
7 ' 75 V12 o, A+ 2B 9

26. vab—3 A 1, vap— 2V L VA o) 50 S

va b
2 (Fa>0,b>0)
27.\/@x1/%><\/ﬁ:4\/5%1‘lﬂ oz 4 o] e

28. th-3-& WEste fEl5 a, b, coll thsto] 2%" o
27

%\/éz\/&,ﬁ:?)ﬁ,m:cx/g

Ov2 @v3 ©®2 @ V5 ® V6




30. g IO AHEe W -

o7k 3 9l Aol 1 1
g 4% F EY A« .: .
29 a b

31. AA5 2 o thote] z Bk AAY -2 2AS9]
M8 N(z) 2 YEPHE N(1)+ N(2)+ N(3)+- -+

N(z) = 42 7} AR ¢ o] &L Fafolat,

32. f(a) =vVr+2—Vo+1 L4, £0)+ f(1)+ f(2) +

-+ f(99) + f(100) ] & FoFH?
® -1 @ Vil -1
® V102 -1 @ V102 — V101
® V102
33. f(x) = Va+1—va o, f1)+f(2)+ f(3)

@ V40 -1 @ VA0 +1
® V4l -1 @ V41 +1
® V41 — V40

34.a,b 7} 54

35.

. (V3-1)a+2b=0& T=35H=

a, b °] & Fstofzt.

84 a, b, coll ot olA&4 f(z) = ar?+ba+c
7F£(0) =3, f(V3) =4 —V3& HET o], f(1)]
= oozt




